
DAILY BASIS ASSIGNMENT 

          DAY: TUESDAY               CLASS: V                      DATE: 21.04.2020 

          SUBJECT: ENGLISH                                                                                                                       

I. Tick the correct option: 

a. A _____ is a group of words which does not make a complete sense. 

i. Sentence 

ii. Phrase 

iii. Subject 

iv. noun 

b. A phrase needs a subject and a ______ to complete the sense. 

i. verb 

ii. noun 

iii. pronoun 

iv. subject 

II. Choose the correct phrase: 

c. I cannot talk to you now as I am getting ______. 

i. a new car today 

ii. up early today  

iii. late for work 

iv. a new book 

d. A beggar was sitting ______. 

i. by 6 o’clock 

ii. outside the temple gate  

iii. in a car 

iv. in a meeting 

e. I promised my mother that I will reach the station ____. 

i. on time  

ii. by time 

iii. at time 

iv. around time. 

 

विषय ह िंदी                                                          

विषय ह िंदी                                                             21-4-2020 

प्रश्न 1)  उददू भाषा की लिवि क्या  ै ? 

क) रोमन            ख) फारसी          ग) देिनागरी         घ)  गुरुमुखी 

प्रश्न 2)    स्िर िर्णों की सिंख्या ककतनी  ै ? 



क) दस              ख) ग्यार            ग) बार            घ) िन्द्र  

प्रश्न 3)  कमि का समानार्थी क्या  ै ? 

क) ििंकज           ख) जिाधि           ग) जि       घ) अग्ग्न 

प्रश्न 4) कौन सा शब्द िानी का समानार्थी न ीिं  ै ? 

क) नीर             ख) अिंबु            ग) जिद         घ) िारर 

प्रश्न 5) धिड़िया का ब ुििन क्या  ोगा ? 

क) धिड़िये          ख)  धिड़िया         ग)  धिड़ियाएँ      घ) धिड़ियाँ 

   

Subject: Mathematics 

1. Choose the right answer. 

 

a) Ten lakhs has ................. zeroes. 

i) 4                     ii) 6                  iii) 8                 iv)5 

 

b) Successor of the number 54837902 is 

i) 54837901       ii) 54837903      iii) 54837904      iv) 54837900 

  

c) Predecessor of the number 2752823 is 

i) 2752822        ii) 2752824       iii) 2752800       iv) 2752808 

 

d) 1 lakh = ................ thousands 

i) 100         ii) 10          iii) 1           iv) 0 

 

e) 10 lakh = ................... million 

i) 100          ii)10          iii)1          iv) 0 
 

 

Subject – Computer 

 

 
I. Choose the best options from those given below:- 

i) Computer is an electronic device which receives  

(a)  output  (b) input                  (c) process                (d) program 

 



ii) What forms the input that the computer receives  

(a) Data (b) Program      (c) Document       (d) Both (a) and (b) 

 

iii) An example of hardware is: 

(a) Monitor  (b) Windows              (c) Unix              (d) MS Word 

 

iv) The component of a computer system that doesn’t have physical shape is: 

(a) Hardware  (b) Software        (c) Storage device         (d) Both (a) and (b) 

 

v) Programs that are designed to perform specific tasks are known as: 

(a) Utility Software (b) Operating System    (c) System Software       (d) Application software 

 

 

 

SUBJECT: EVS 

 

Choose the correct answer: 

1.  Name the largest habitat on the earth 

a) desert         b) ocean      c) forest      d)  polar region  

2.  Ponds,lakes,rivers etc. are some examples of 

a)  desert       b) freshwater       c) forest      d) ocean 

3.  The body of a bird is primarily covered with 

a)  scales      b) fur       c)feathers      d) shell 

4.  Which of the following is called ‘The ship of desert’? 

a) yak       b) camel       c) horse        d) zebra 

5. Feathers help a bird to 

a) fly       b) keep warm      c) protect it from moisture       d) all of them  

 

    

 

कक्षा – पञ्चम्          विषय – संसृ्कत   

   

विम्नविखित  प्रश्न ंका उत्तर विकल्न ंसे चुिकर वििे ! 

1. स्वरन ंकी सहायता से िनिे जािे बनिे  िर्ण क्या कहिाते है ? 

(क)  अयनगिाह   (ि) स्वर   (ग) वं्यजि    (घ) पु्लत   

2.  अन्तस्थ िर्ण वकतिे हनते है? 

(क) एक   (ि) दन   (ग) तीि   (घ) चार  

3. उष्म िर्ण वकतिे हनते हैं ? 

(क) पांच  (ि) चार   (ग) तीि   (घ) दन   

4. भाषा की सबसे छनटी इकाई कन क्या कहते हैं ? 

(क) स्वर   (ि)  व्यजंि   (ग)  िर्ण    (घ) िर्णमािा   

5. वबिा वकसी की सहायता के बनिे जािे िािे िर्ण  क्या कहिाते है ? 



(क) िर्णमािा (ि) िर्ण   (ग)  वं्यजि   (घ) स्वर   

 

*********** 
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